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B.A./B.Com./B.Sc. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
SCIENCE AND CIVILIZATION

Time : 1% Hours Maximum Marks : 50

o1

02)

03)

04)

05)

006)

Q7)

Section - A (2x13=26)

Answer any Two of the following in sixty lines

[lustrate the effects of Green Revolution on the agricultural output.
61‘65?\)30‘3 é@%dé@‘_ﬁ@ DS DN AINE, H2II5V 3eHos.

Briefly explain the equinoxes.
$38@°8 @ 1P, DFDOBOG.

Explain in detail about the synthetic fibres with suitable examples.
,8 DO DD H0H GURRTRed? HID0BOE.

Describe the Gizah pyramid.
Aze DOWED DIVOHBOB.

Explain various significant discoveries in the medical field.
208 45@3%6»65 .'iigtfor{ooﬁ5 zOAD DIV 8IN,TROD (120, 30H0E.

Social responsibility to regarding over-exploitation of Natural Resources — Explain.
VI3 Sde (‘.bt)n‘ﬂ)(ﬁﬂﬁo@s IPRE 23065 B DSD0BOE.

Section - B 3x4=12)

Answer any three of the following

Write short notes on :

a) RADOR.
Owob.

b)  Antibiotics.
s0d00385.

c)  Eutrophication.
0HRGHEAD.



08)

29)

d)

PVC and Nylon 6,6.
20D Hoom 3935 6,6.

e)  Tissue culture.
Ezo0 6(3&36».
f)  Internet and Cable.
a0&d,d Hoom Sand
g) OTEC.
&dad.
h)  Insecticides.
Sorsmes50e0.
i)  Gun Powder.
1o D°&6.
Section - C
Answer all Questions
Fill in the blanks.
a)  Another name for vitamin ‘D’
DD ‘G’ CInS, HOGCINS HED.
b)  Who discovered the first antibiotic?
B30G5S s0B82BRBE ISH S MR, ?
c)  Who invented the computer?
50506 DSH SiHRP,H?
d)  Social Justice.

DoaSIeRE W ODID.

Choose the correct answer.

a)

Calendar
i)  Chinese i)
iii) Japanese iv)

Egyptians
Babylonians

(3x4=12)



b)

d)

Q10) Match the following :

a)
b)

c)
d)

a)
b)
c)
d)

50306506
) a3&d

i) aneD

Blasting purpose.

i)  Steel
iii) Radium
Hcl

DD DS, BISNS3 SHAIPRNL.

) hé

iii) Sdavo

White Revolution

i)  Plants

iii) Eggs

3(e5 DPaSIN

) Sws,en
iii) pen
Malathion

i)  Vitamin
iii) Fertilizers
e

1) Do

iil) Q0D

Cobol
DNA

Protein
Nylon 6,6

85230H
B
gﬁé’s&

3935 6,6

i) os2ond,
V) 200850008,
i)  Iron

iv)  Dynamite
i) 268

v) asdd

i)  Animals

iv)  Milk

i) 20BN
V)  Joew

ii)  Proteins

iv)  Pesticides
i) 588

iv) 8awdosod
Synthetic fibre

Amono Acids

Computer

Genetic material

5.8 5D

DBD3 3530

azaba DTPYID
[~
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
MATHEMATICS - 111
Rings and Linear Algebra
Time : 3 Hours Maximum Marks : 80

Section - A (8x4=32)

Answer all questions.

Each question carries 4 marks.

Q1) Prove that a finite integral domain is a field.
DO HPO0H HBFIN, FHIN VHBIOGBI IPHOB.

02) Prove that x* + x + 2 is irreducible over Z;.
77030 ¥+ x + 2 ofndn od rH0s.

03) Prove that the intersection of any two subspaces wi, and w; of vector space V(F) is also a
subspace.

V(F)&5 wi, 2 en 600800800008 aod S5 9308 5060 Ga1°0S00HNM.

04) Prove that the linear span L(S) of any subset S of a vector space V(F) is a sub-space of

V(F).
V(F) d0mr080:¢065 235 o008 S ans, aneard L(S), V(F) dcns, éarosoreasm
@R PDOG.
05) Show that the matrix is non-derogatory where A = 22 3 4}1:]
8 4 5

()

IRBE © 0iPS IS O IPH0B. A =

WG
E-NE VST V]
(A )
[ et il el il il
§
&
&
&

06) State and prove Cauchy Schwarz’s inequality.
5331—}‘\)&65 0DMEV RSN DIDOD DEPDOLHSL.

=

07) Show that the set S = {(1,0,0) (1,1,0) (1,1,1)} is a basis of R*(R) where R is the field of
real numbers. Hence find the coordinates of the vector (a,b,c) with respect to the above
basis.

RS(R) &% S = (1,0,0) (1,1,0) (1,1,1)& SRV IS @D IPH0OB. A, R a00)s Doaye SB5»,
agRs a8 S 8.9 § (0,b,C) HOEH dERDSen SHE%,08.



08) Describe explicitly a Linear Transformation T:R”>® R” such that T(1,2) = (3,0) and

TQ2.1) = (1.2)
T:R’ ® R’sabanan T(1,2) = (3,0) woam T(2,1) = (1,2) o agdd, ane s05G000,
amgHormr S Bs500B0E.
Section - B (4x12=48)
Answer all questions.
Each question carries 12 marks.
09) a) i)  Prove that the ring of integers is a principal ideal ring.

b) i)

—

010)a) 1)

DPOR0E S0P DLy DEOND FOONDHI T°DOE.
State and prove Division Algorithm in F(x).
ZRIH5E DBH DY HI DO DEPDOLHI.

OR

State and prove fundamental theorem of homomorphism of rings.
SFOONSINO DDTFDT 5510 ?\)mgoéa’m:\b DSDO0D, DEFPDOTISL.

Show that the intersection of an arbitrary formal of ideals of a ring R is an
ideal of R.
R sSeonHssnes ofRpds ) Sormr 8inHs, adodde émoao @n, BEHso, R

DEOND ©9:5)NDOGA IPDOB.
Let W be a subspace of a finite dimensional vector space V(F), then prove that
&V 0
dim gv—:: dimV- dimW.
Wo

V(F) 080 5055060 905208006008 612080830 @00

o . .
= dimV- dimW ed i$rdod
2]

dim g\\)\]]

Prove that every quotient ring of a ring is homomorphic image of the ring.
28 SO0N0 GBS, D HBF, SONDHT® SSSOPIB HHEPDHT HBVODHD

OR

Let V(F) be a finite dimensional vector space, then prove that any two basis of
V have the same number of elements.
V(F) &% 50808 d0or080¢50. V GIns, 9 30 srpoeod’dor Hrose

D0d) DIPIHD BPD0E.

Sl}lOW that the vector (1,1,2) (1,2,5) (5,3,4) of R3(R) do not form a basis set of
R*R).
R'(R) e, (1,1,2) (1,2,5) (5,3.4) #s0sen R(R)s5%H egedo 96,0560



011) a)

012) a)

b)

i)

—

)

Find the characteristic roots and the corresponding characteristic vectors of

S 1 1y
& Y
the matrix A= éQ 4 23
g 1 X
S 1 1y
& Y
A= gz 4 23 SPBE NS, SHBE MPGo HOOM OHNERH LB HOTen
g 1 X
505°,08.

State and prove Cayley-Hamilton theorem.
S009-5°2QH DOZ0BING HFD0D ATEPDOLSN.

OR

Solve
X1+2X3—2X4: 0, 2)(?1—)(?2—)(?4: 0, X1+2X3—X4: 0, 4X1—XQ+ 3X3—X4: 0.

X1+2X3—2X4: 0, 2)(?1—)(?2—)(?4: 0, X1+2X3—X4: 0, 4X1—XQ+ 3X3—X4: 0
&) AJ°DOB0B.

g’7 2 - 2})]
Find the inverse of the matrix A= g 6 -1 2 gby using Cayley-Hamilton
&6 2 -1
theorem.
3'7 2 - 2})‘]
A= % 6 -1 2 gaﬁagss; Sond-Irmed HOTOSING GHARACD DS
&6 2 -1
BPBED) SHODHSN.

Prove that in an inner product space, any orthogonal set of nonzero vectors is
linearly independent.

Apply the Gram-Schmidt orthogonalization process to the vectors Bi=
(1,0,1), B2= (1,0,-1), B3= (0,3,4) to find an orthonormal basis for R*(R).
PoHE 0neohssn HES HHBPR0D, HOFen B1=(1,0,1), B2= (1,0,-1),

B3=1(0,3,4) @ ahod R3(R)e)‘5 2% ©0ZIPPO 0D BP0, ENSE,08.
OR

Prove that the two matrics A and C 'AC have the same characteristic roots.
3085 A, C 'AC en 2.5 orgB5 rerod SDR GO oH SPHod.

State and prove Bessel’s Inequality. Find a unit vector orthogonal to 4, 2,
3)in R’.

* * *
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
MATHEMATICS -1V
Numerical Analysis
Time : 3 Hours Maximum Marks : 80

Section - A (8x4=32)

Answer all questions.
Each question carry equal marks.

Q1) Prove that
a) (1+A)(1-V)=1
b) VA=A-V=§
a) (1+A)(1-V)=1

b) VA=A-V=§ a asrdomHam.

02) Find the missing term in the following data.
X 0 1 2 3 4
v 1 3 9 - 81
¥ HBES5RD Missing HSod $5%,08.

03) Apply stirling’s formula to find y,g, given yyo = 49225, y,5 =48316, y30=47236,  y35=
45926, y40 = 44306.

Y20 =49225, 3,5 = 48316, y30 = 47236, y35 = 45926, y49 = 44306 @ond Hnoh ©osd,8
BRSO GHABPHOD )28 D BDAIN.

04) Given ug =580, u; =556, u; =520 and u4 = 385 find us.
ug =580, u; =556, u, = 520 us = 385 e2ond 13D sadHPHED.

1 1
05) Evaluate 6l+dxby using Simpson’s 3 rule.
X
0

1

1
2090, — AOHIRA, SHBPH0D () dx ® ifBoHIN.
3

01+x

06) Given that %— xy =1, y(0) =1 obtain the Taylor series for y(x) and compute )(0.1).
X
%— xy =1, y(0) - 1 & &zws2a y(X) 8 b meowm ocead y(0.1) s Sowamn.
X

07) Find the positive root of the equation f{x) =x’ —2x —5 = 0 using Regula-Falsi method.



fix) =X —2x =5 = 0 HénsCw@nS Biieo-309, DB 00 5 PSR, EHRBIFIN.

08) Solve the following equations by Gauss elimination method.
"o - SPaolod) 6(‘3@0@ 800 DIBBEFOD FDOBOE.

3x+y—z=3,2x—-8y+tz=-5,x-2y+9z=8.

09) a)

b)

010) a)

b)

Section - B (4x12=48)

Answer all questions.
Each question carry equal marks.

State and prove Newton’s divided difference formula.
SR D2IRES 365 JoU,SP HID0D DBPBOISIN.

Using Newton’s forward interpolation formula and the given table of  values
obtain the value of f{x) when x = 1.4.
& 80D HGE WEREOIP FRWOD HETHNS HOSIND GHARHod X = 1.4 5t

f(X) Denssinh voaénsin.
X 1.1 1.3 1.5 1.7 1.9
Sfx) 0.21 0.69 1.25 1.89 2.61

OR
From the following table of values of f{x) compute f{0.63).
&3 800 H85 esgesone (0.63) & tBowan.
X 0.30 0.40 0.50 0.60 0.7
fx) 0.6179  0.6554  0.6915  0.7257 0.7580

Find the form of the function from the following data
&3 800 HGE STPTONP DIVHDD SHHHPHSIL.

x 0 1 2 3 4
£x) 3 6 11 18 27

State and prove Gauss’s Forward formula for equal intervals.
PR O3S @oéan‘éai VPTD, HSD0D DEPDOTISN.

Apply Bessel’s formula to find the value of y, 73 given that y, 5 = 0.4938, y, ¢ =
0.4953, y27=0.4965, y258 = 0.4974, 3,9 = 0.4981, y3.0 = 0.4987.

Va5 = 0.4938, 26 = 0.4953, 1,7 = 0.4965, y,5 = 0.4974, y,9 = 0.4981, y30 =
0.4987 eond B3od, 2O2080: SHBRA0D 2 730 SRS,

OR

Use Gauss’s backward formula find the sales of a concern for the year 1936,
given that

Year (doases,60) 1901 1911 1921 1931 1941 1951

Sales (in thousand) 12 15 20 27 39 52

0%0 densen eGP 1936 HOSH,BING? ON,HDH DENIOH PP BEHTDHS
©0&0HB& DPBO0 SCPBONP BiRPEIED.



b)

012) a)

b)

Obtain y»s by using Everett’s formula from the following data y,o = 2854, 4
=3 162, Y = 3544, V32 = 3992.

Y20 = 2854, ya4 = 3162, y23 = 3544, y3» = 3992 aensexH 0506, @rdosH
SDBPA0D )24 SHHHS0.

State an prove trapezoidal rule.
BhzonEd HRoBHNGH HID0D DEPHOWHSN.

Using Picard’s method to obtaining y for x = 0.1, x = 0.2 for the differential

equation %= x+yandy=1latx=1.
x

d
X =1 oonsn,dm Y =1 wons oo d_y: Xt ) o508 H8ns50wEa3 Hsed
X

DB GHABRHOD X = 0.1, x=0.2 3¢y DenshH tiBoiam.

OR
V4
Evaluate ¢y7sinz dt using the trapezoidal rule.

0
V4

BBonEd HYB @00 () Isint di D iBoHI®.
0

Using Runge-Kutta method of second order, compute }(2.5) from

+
%: 7Y y(2)=2, taking h = 0.25,
X

+
%=%, ¥2) =2 wons h = 025 &»sa RK 5g8 oo y(2.5)a
EHOOES.

Find a real root of the equation x> + x* — 1 =0 by iteration method.
DIHF DEB wgoe X + X — 1= 0 GIns, HPeHo SHEmHIN.
Solve the following equations by matrix inversion method.
xX+y+z=3,x+2y+3z=4,x+4y+9z=6.
D DASTBOD IR HSH DB orgoe APDOTHSL.

OR

Solve the equations 3x + 2y +4z=7,2x + y +z=T7,x + 3y + 52 =2 by
Factorization method.
» pdsoresves Factorization $¢8 oo dpoinHsm.

Solve the system of equations by Gauss-Seidel method.
83x+11y—4z=95,7x+ 52y +13z=104, 3x + 8y +29z="T71.
3 BT OH MPR-2ES DB TR O° DPOIDSL.

* % *
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
TELUGU - 111

Grammar and History

Time : 3 Hours Maximum Marks : 80

A, B DzPIPOS O3 Zifo HoB Bod HH O B, SOHOB? INF0 VH DL O DIPCTD

FoPoB.
103 HH H D E HalrpgeSso TPaiPd (5 16=80)
OR, DI, 50,0 DIPII.

depifo - A

0I) 300 draEeads YoHS 5w sn @) GeoNOE.

Q2)

a) DS HIF Bren (P FPOoe SHOIODE.

b) o SSHG0 IS, GO 0.

c) Dod Ba B3 HBo oS DBDI D B02HED oHBioID.
d) NS seDBB0 HEODINTH B HOY STHBIISID.

€) & o MOoBMIN SO,

f) F6H655 H65GHEH.

g2) 2YTDeN DOV, 1B e oen.

h)  srp sx80 HEHE Siss0nHH HSFoiD

&3 80D FDG? TeNNOBI DBOD HOY SOB(FNOID HFIDO)HN.
a) HDdSnosan.

b) @eScesa,.
c) ahdend.

d) eHsos.



g) dpdodenden.
h) dodHeens

03) 800 a3S5 arenBoHS HoHTD HIeSHARSSINIP TeoHOB.

a)  HQPID + DD
b) DO + et
C) B+ ars
d) ©5,885+0H886
e) do+sen
f) s+ o,
g od+od
h) &9+ sod
04) 800 H02AE HHPOS3 DDOBI FSTTTRIP DSDOBOB.
a) BB HIW.
b) dsEm.
C) @ooHsENen.
d) edssm.
e) esiEn.
f)  2dossasm.
g)  HHITRESEID.
h) swen.
05) 3800 3065 3o0BOBD DSDOHIN.
a) & SCwIL.
b) D HwA.

c) sHIN.



D210 - B

06) &5,05°5088 S0LzPA DSPDR), (HDOD FCAMESN.
07) s0ogsmn - 3eniH-3HiH HO20H DSBS 3DD ZoB, gl 3520 HEOIP TPAAD WDBE (5,303
DIDOoDYSL.

08) sHas grapdden AEPRVOIS BN 2I0HGD HOY DUID TP OB HFDOHDSIN.
09) of H0w@HIND HSIVODIN.

010) 3 800 32065 @weenfoBS HPGETN FOHIN.

a) SYDPSHIW.

b) BewiHSS SPoEDE oaH A .
C)  ©f doxyes.

d) Sgoed).

€) Y HSCRIN.

f)  esonD.

D TE 23oen.
g 5 O

h) e srowdsen.

* * *
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B.A. DEGREE EXAMINATION, MAY - 2017

(Examination at the end of Third Year)
TELUGU - IV

Literary Criticism

Time : 3 Hours Maximum Marks : 80
0, HF O HPIINe) FaHID. (5 16=80)
01) sa3@, DE@DOBBOSS ePEHODH aJo52,8B)© IR DSDOHBV.

02)

03)

04)

05)

Boe
S0 dGON ifo iicfa)acfe)&i“ai»e)ab den,sm.

S0, HAIPBBINOD) DIOOHIN.
Soe
09 SHoIe HNG ? MHDS SHOE0S den 2 Snen.

D) &3 800 IS5 GoBF0BS VP T2 BN N FOIL.

1) @050 B0, 58 Soas&n.

1V) ezp@asn.
) 3800 IS5 GoBF0BS VP T2 BN N F2ONIL.
1) o0 $505.

i) Soeds.

V) opgnedssn.

EDB(FNGED OB, HE) (1O ODTO2I0H DODOLFING DSDOWN.
Boe
ol alomo, & MedESN 8KHBi 0 DBIDoHHN.

D) 3800 3NS5 3oBF0BS VP T2 BN N FOIL.

) eoné
i) oBsgsm.

iii)  @oen.



)

V) ®sc08s.

&3 80D 3°DS5 30BOBS VPN BB TAIVIN.

1) PHosh, SO Sapen.
) ads8sm.
iii) amo®.

1v) O doay

* % *
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
Third Year
HISTORY - III
History of Modern Europe (1789-1960 AD)

Time : 3 Hours Maximum Marks : 80

Section - A (2x10=20)

Answer any two of the following.

Q1) Write about political social conditions in Europe.
ONPEDHOED TozBoH, FIRRE HOPBI DFOOBIN.

02) Write about the Constituent Assembly.
0o &R0ff DI DIDOTHESW.

03) Describe Industrial Revolution in Europe.
ODNPVSH? oD BoIE DHFIND HSFDOTSM.

04) How do the Westerlies benefit people of Europe.
ONPEH 38H IPDD T20° DAGINIP PN D00, B.

Section - B (3x15=45)

Answer any three of the following

05) What the need of League of Nation.
TPTEB DB BB BI DFOOIID. 06)

What are the causes of 2™ World War.

G0&S DO (ii))céai»aié) S0P SeDa)a.

Q7) Write about the unification of Italy.
add VEECEINIH So6EI.

08) What is UNO. Name its agencies and organs.
DETo23 HDINS DBMPIIN. TP DA, DO VOoiTNOH DHDOLHN.

09) Describe European economic recovery programme.
OHREFDODS SYES HFHPITH SPBEHSINH DIOOWDIN.

010) Describe some European military pacts.
823, 0HREHDOND DAE 2:5),0T°OH DIDOTHIN.



011) a)

b)

Section - C

Answer any three of the following.

Vienna Congress.
DoHar, seofin.

General Assembly.

[LFSTe TN

Facism.
oz

UNESCO.
oNDS?.

WHO
B2 PO &

NATO.
DD. D.8.8

* * *

3x5=15)
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
HISTORY -1V (E)

History of Modern Andhra

Time : 3 Hours Maximum Marks : 80

Section - A (2x10=20)

Answer any two of the following

Q1) Describe the history and culture of Satavahana.
TSGR DS SOOI DOD, ;B HFOOININ.

02) What is the condition of Andhra in 17" Century.
173 So)0 @8 ©050°g Km?gé)e)ai) DSIDOTHSW.

03) Describe the French Expansion in Deccan.
55,565 PO DYBRD (PO, TOMIN.

04) Explain the Permanent Revenue Settlement.
T (5 TOODH D), DO, GBIV DSOODIN.

Section - B (3x15=45)

Answer any three of the following

05) Explain the reforms of Salarjung.
@erbzoh Hod,Breid® HIDOTHIN.

06) Explain the impact of great revolt of 1857 on Andhra.
185788 iDHzén HeIeHn esogmgo?o DDESI0P .

07) Explain the Industrial revolution and its impact on Andhra and Telangana.
S0P DO SOOMPHD J2DT2IE HYPI I HzIBSND HBIDOIS.

08) Write about the Social and Cultural awakening in Andhra and Telangana.
806 HDA S0P dosirps HDO o, B 3)6319»‘@:6) DIDOTHSW.

09) Write about the Kandukuri Veeresalingam.
HEoH 3P0 HOSDoifo Hodren (IR0, DSDOISIL.

010) Explain the freedom movement in Andhra Pradesh.
SOGTREIN GINE, A BOBAH GEENING DSOOWSN.



011) a)

b)

Section - C

Answer any three of the following.

Home Rule Movement.
B8 GHI.

Freedom Movement.
F(BSOBOH €E5HIN.

Andhra Movement.
soge éci“ai)a’m.

Non-Cooperation.
DI0H DUST.

Rampa Rebellion.
B0 SiHdzIew.

Simon Commission.
DO sAS.

* * *

3x5=15)
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
HISTORY - IV (E)
History of USA (1776-1945 AD)

Time : 3 Hours Maximum Marks : 80

Section - A (2x10=20)

Answer any two of the following.

Q1) Describe geographical features of North America.
630 0HOS° FPHIYE TDoOH DSDOINHI.

02) Explain causes and result of the war of 1812.
1812 DO (ii»cqga’m:\i& 1© 5208500, DT HIDOTHSIL.

03) Describe Treaty of Paris 1783.
1783 DD 20,0020 DBODOTDIM.

04) Write short notes on Abraham Lincoln.
©DT0 DoBOD 28 DIV TFOSD.
Section - B (3x15=45)
Answer any three of the following

05) What are political and economical ideas of populists.
To3DB HOO egs 2PSIIH DSDOoTHSL.

06) Explain British policy.
287 DEESIND HFVOIDIN.

07) Describe French Settlements in USA.
©HD52S% BoNIHOD ARSTINE DBDOTDN.

08) Describe Civil War of 1861-65.
1861-65 30 OIS DSDOTHID.

09) Explain American Expansion to Pacific.
ODODED DN VDS ST HIODOTHSIM.

010) Describe open door policy in China.

5?65& &AD G35 DRI IV DIDOTNSL.



011) a)

b)

Section - C

Answer any three of the following.

Agarian Revolution.
FSdoons HHSIM.

Dollar Diplomacy.
wrab G°&n.

Political Parties.
oezS o Hzren.

External policies.
2552 HTPTLD.

The Muckrakers.

Rise of Big Business.
DG o8 9N, 8)
© [~]

* * *

3x5=15)
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B.A. DEGREE EXAMINATION, MAY - 2017
(Examination at the end of Third Year)
HISTORY -1V (E)

Indian Arch. with reference to Andhra

Time : 3 Hours Maximum Marks : 80

Section - A (2x10=20)

Answer any two of the following

Q1) Describe Archaeology. Explain relation with other sciences.
DTS T2PINE) DID0) ABY BaROH? HDOI0 SN HFDOTIM.

02) Describe Art and Architecture of Vijayanagar.
DBODBHG JoaiPesSNSID S¢ DO TR 8,0 DIDOINI.

03) Describe Iron age in pre history of India.
23USF0 s, By ﬁbé@ﬁ AaDD CVHSND DIDOTDSD.

04) Describe Nagarjuna Konda.
TPEHS 5208 (100, DFSDOTHS®.

Section - B (3x15=45)

Answer any three of the following

05) Write about Krishnadevaraya inscription in Simhachalam.
DOTFBO0S? £, HBF0T 0D FODFIN (100, T2 OIVESN.

06) Discuss Nasik Prasanthi of Gautamiputra Satakarni.

TS TS5Y BHES, 9035 HD00S (PO, T2 CMMIN.

Q7) Describe Indian temples.
ZPBSBESIN G5 B ONINOD (10, FCHIIN.

08) Describe inscriptions on pillars during King Ashoka’s period.
035D SPOSING? YOTPODY BODT O HIVOININ.

09) Describe Amaravathi stupa.
©5DTPHB ARDSIN) (10, FPOKDSL.

Q10) Differentiate between Chaitra vihar and temples.



DB DHIEHN HOOKN HODTEHN s ZIgred SDoD) M.

011) a)

b)

Section - C

Answer any three of the following.

Lothal.
S5656.

Jain cave temple (Udaygiri)
2 HHoDSIW.

Somnath temple.
506 SHODBSD.

Ganapathi Iconography.
(1S DB DIPTSEW.

Anama konda.
da) 52048.

Brahma Iconography.
2, DB DSPHIESN.

* * *

(3x5=15)



